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BACHELOR'S DEGREE PROGRAMME

Term-End Examination
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ELECTIVE COURSE : COMMERCE

ECO-11 : ELEMENTS OF INCOME TAX

Time : 2 hours	 Maximum Marks : 50

(Weightage 70%)

Note : Attempt any four questions including question no. 1

which is compulsory.

1.	 (a) Kansal is working as a sales manager of a 7+7
company in Delhi. Particulars of his salary
for the financial year 2008-09 are as under :

Rs.

Basic salary	 15,000 per month

Bonus	 20% of salary
CD

Conveyance	 2,000 per month

aV
N.)	 Allowance

Entertainment
Allowance	 3,000 per month

(v)	 Employer's
contribution to
(Recog. Prov.) Fund	 15% of salary
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He has been provided with a house by the
company for which a sum of Rs. 1,000 per
month is deducted from his salary. The
company pays a rent of Rs. 6,000 per month
for this house directly to the landlord.
Compute the taxable value of concessional
house to be included in the salary of
Mr. Kansal.

(b) Mr. Yadav is employed at a salary of
Rs. 5,000 per month in a company at Patna.
He gets 30% of salary as dearness
allowance. One third of dearness allowance
forms part of the basic pay. He is paid bonus
@ 15% of the basic pay. He also gets
Rs. 900 per month as hostel allowance for
his two children and Rs. 500 per month as
conveyance allowance (40% of it is utilised
for official purposes). He is also paid half
percent (0.5%) commission on sales
even though he is not connected with
sales department. The turnover of the
company during the previous year 2008-09
amount to Rs. 10 lakh.
Compute his taxable income from salary for
the assessment year 2009-10.

2.	 In an assessment year the Income tax is charged 2+10
on the income of the previous year. Explain the
concept of previous year and describe the
exceptions to the above rule.
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(a) State the circumstances when cost incurred 6+6

by the previous owner is taken as the cost
of acquisition of a capital asset for the
current owner.

(b) State the rules relating to inter-source
adjustment (pet off) of losses and the
exceptions thereof.

(a) On the basis of the following information 6+6
determine the taxable income of the house

property for the assessment year 2009-10.

Rs.

Municipal value	 80,000

Fair rent (p.a.)	 1,15,000

Standard Rent (p.a.)	 1,10,000

Rent Receivable (p.a.)	 1,20,000

Municipal Taxes paid 	 30,000

Repairs expenses 	 10,000

The house remained vacant for three months

(Jan., Feb. and March 2009).

(b) Explain the deduction allowed under

Section 80 DD.

5.	 (a) What do you understand by PAN ? State 6+6
the transactions where quoting of PAN is
compulsory.
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(b) State the circumstances under which filing
of return of income is compulsory even if
an assessee does not have income exceeding
the minimum exemption limit in a previous
year.

6.	 Write short notes on any two of the following : 6+6

Deduction of tax at source

Agricultural income

(c) Residential status of an HUF

(d) Short term capital Gains
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1.	 (a) cm-m	 fa----1 Sld	 t 7+7

Tcf	 -T-14"Tff t I f11-7 00 2008-09 t 	

td 	 fq-a-Tut 	 t:

T.

(i)	 4t4	 15,000 mkt 4-11(1

20%

trft--qN ITT	 2,000 Mk H

4-i -NA-r %TT	 3,000 Tit JAR-I
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f9771--T
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Rq l q (11 4-i ct4-I	 air or,41 ,q, TLF:r lIc1
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(b)	 711--q 77	 -14 5,000 T. sl id

tR	 ti	 3# .k-d-a. 	 30% iferrft

9-1- 	 =‘ 14 31T 	 61or t I Trerrrt i-Tt 7[1/3 'ITT

td-9. "T1 91-Ff Hfrir 	  t
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1-*—zff	 t zrarcra	 faw-04 1-col-r7T •izt' #Tz

t I Tm -a-ti 2008-09	 t1:17-t

10r 	 T. 2TT I
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(b) X41	 31:7)7 	 	 11:1 IF-4) 4,4.ft

f9-71:4 air 3t4	 31cat

4.	 (a) F-1 1-44{_q cf TF913-ff t 311 917 '17 2009-10 onk 6+6

tf1	  H chli #7r7 	  trzr371

4 1 u 1-f[	 --1-F-4R

T.

80,000

1,15,000

1,10,000

1,20,000

30,000

10,000

	  t9 1171( c 197-711 771 HI4 2009)

1013-rt 7-r
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5.	 (a)	 T-941-41 -UT ,Hts411 (PAN) -4 &TR ITT	 t?	 6+6

Frr-r	 TP-7:41- ur-dr

	  t

(b)	 3-f iff-T-QTrm-zif mr 3c	 t4	 r31.-1

Fop:1(4 (return of income)	 1-ft19.

t ra y	  f qrR-th	 714	 37-4

7L-i-dT( e9z Titt tr 31f--44) 9 t I

	

6.	 ,n 14	 NI	 FiTTI	 :	 6+6

t=ild 117 ob( c+)

Tfti 3-74

(c)	 1.)4=IT (HUF)	 f9"-q7C fTP-Tfff

(d)	 iicq
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